#### PRICING SHEETS:

ESTIMATED ANNUAL QUANTITIES ON ALL GROUPS

- BIDDER MANY BID ON ANY OR ALL GROUPS.
- AWARD SHALL BE MADE BY GROUP.

Ganeral Fredrice

12" Curb Box Extension

18" Curb Box Extension

• BIDDER MUST BID ON ALL ITEMS IN GROUP.

### Group 5A, Curb Box Castings

Acceptable Manufacturer's include Bingham & Taylor, EJ, General Foundries, A.Y. McDonald, Mueller Co.,

Please list the name of the manufacturer(s) of the items being quoted on the line below:

	OPLIAND ASSESSED			
	Item Description	Estimated Quantity (Per Each)	Unit Price (Per Each)	Total Price
1.	4-1/2 ft. – 5-1/2 ft., Erie Curb Box. Rod	C**		
	Style w/Pentagonal Nut Cover and 30 Rod	200	\$ 39.99	\$ 7998. @
2.	Erie Cover with Pentagonal Nut	200	\$ 9.17	\$ 1814.00
3.	24" Rod	50	\$ 8.04	\$ 433. ~
4.	6" Curb Box Extension	50	\$ 11/12	\$ 556.00

Total of Group 5A Line Items =

5. Ea.

6. Ea.

\$ 12216.50

\$ 14.80

\$ 13.53 \$

744.00

The Jack Forrelly Co.

50

50

## Group 5B, Valve Boxes

Acceptable Manufacturer's include Bingham & Taylor, Tyler Union, EJ

Please list the name of the manufacturer(s) of the items being quoted on the line below:

	1 yher	Juiod	
	Item Description	Estimated Quantity (Per Each)	Unit Price (Per Each) Total Price
1. Ea.	6" Gate Box Cover	400	\$ 18.51 \$ 7404.00
2. Ea.	26" long Gate Box Top	200	\$ 95.87 \$ 19174.00
3. Ea.	36" long Gate Box Bottom	200	\$ 98.51 \$ 19702
4. Ea.	18" long Gate Box Extension	50	\$ 77.5L \$ 3878.00
			<b>_</b>
Total of Gro	oup 5 Line Items =	\$	50,158.00

the Jack Farelly Co.

## Group 6, Worcester Spec. Service Boxes

Acceptable Manufacturer's include General Foundries, Sigma Corp, EJ. Bingham & Taylor and Tyler Union

### Please list the name of the manufacturer(s) of the items being quoted on the line below:

	Item Description	Estimated Quantity (Per Each)	Unit Price (Per Each)	Total Price
1.	A-7, 4" Service Box Top (long – 30") Worcester Spec. Custom Made, Cas	st Iron 250	\$ 96.96	\$ 24,240.00
2.	A-7, 4" Service Box Top (short – 18") Worcester Spec. Custom Made, Cas	st Iron 250	\$ 53.45	\$ 13362.86
3.	A-4, 4" Service Box Bottom (Split) Worcester Spec. Custom made, Cas	t Iron 250	\$ 43.50	\$ 10,875
4.	A-3, 4" Service Box Cover Worcester Spec. Custom Made, Cas	st Iron 300	\$ 6.55	\$ /637.56
•		st Iron 300	\$ 6.55	T

the Jack Farrelly Co.

#### PRICING SHEETS:

#### ESTIMATED ANNUAL QUANTITIES ON ALL GROUPS

- BIDDER MANY BID ON ANY OR ALL GROUPS.
- AWARD SHALL BE MADE BY GROUP.
- BIDDER MUST BID ON ALL ITEMS IN GROUP.

## **Group 5A, Curb Box Castings**

Acceptable Manufacturer's include Bingham & Taylor, EJ, General Foundries, A.Y. McDonald, Mueller Co.,

### Please list the name of the manufacturer(s) of the items being quoted on the line below:

General Foundries, Inc.

1.	4-1/2	Item Description  ft 5-1/2 ft., Erie Curb Box, Rod	Estimated Quantity (Per Each)	Unit Price (Per Each)	Total Price
		Style w/Pentagonal Nut Cover and 36 Rod	200	\$ <u>40.21</u>	\$8,042.00
2.	Erie C	over with Pentagonal Nut	200	\$ <u>9.11</u>	\$1,822.00
3.	24" R	bod	50	\$ <u>8.68</u>	<u>\$ 434.00</u>
4.	6" Cu	b Box Extension	50	\$ <u>11.16</u>	\$_558.00
5.	Ea.	12" Curb Box Extension	50	\$ <u>13.58</u>	_\$_679.00
6.	Ea.	18" Curb Box Extension	50	\$ <u>14.84</u>	\$ 742.00

Total of Group 5A Line Items =

\$ 12,277.00

Fu ucbb

# **Group 5B, Valve Boxes**

Acceptable Manufacturer's include Bingham & Taylor, Tyler Union, EJ

### Please list the name of the manufacturer(s) of the items being quoted on the line below:

	Item Description	Estimated Quantity (Per Each)	Unit Price (Per Each)	<u>T</u>	otal Price
1. Ea.	6" Gate Box Cover	400	\$ No Bid	_\$	No Bid
2. Ea.	26" long Gate Box Top	200	\$ No Bid	_\$	No Bid
3. Ea.	36" long Gate Box Bottom	200	§No Bid	_\$	No Bid
4. Ea.	18" long Gate Box Extension	50	§ No Bid	_\$	No Bid
Total of Gro	up 5 Line Items =	\$_No Bid	200		

FW Webb

# Group 6, Worcester Spec. Service Boxes

Acceptable Manufacturer's include General Foundries, Sigma Corp, EJ, Bingham & Taylor and Tyler Union

### Please list the name of the manufacturer(s) of the items being quoted on the line below:

	Item Description	Estimated Quantity (Per Each)	Unit Price (Per Each)	<u>T</u>	otal Price
1.	A-7, 4" Service Box Top (long – 30") Worcester Spec. Custom Made, Cast II	ron <b>250</b>	\$ No Bid	_\$	No Bid
2.	A-7, 4" Service Box Top (short – 18") Worcester Spec. Custom Made, Cast In	ron <b>250</b>	\$ No Bid	_\$	No Bid
3.	A-4, 4" Service Box Bottom (Split) Worcester Spec. Custom made, Cast Ir	on <b>250</b>	§ No Bid	_\$	No Bid
4.	A-3, 4" Service Box Cover Worcester Spec. Custom Made, Cast In	ron 300	<u>§No Bid</u>	_\$	No Bid
	Total of Group 6 Line Items =	\$ No	Bid		

Fu uchb